B o) (20-3)(22x-3)+(26-3)(-24x+5)
=-2(2x-3)(x~-1)

b) (15x+7)(5-x)+(12x+3)(15x+7)
=(15x+7)(11x+8)

c) (7x—24)(11x+8)+(7x-24)(12x+4)
=(7x-24)(23x+12)

Ea) (3x-11)(3x-4)—(5x+4)(3x-11)

=-2(3x-11)(x+4)

b) (14t+5)(-5t+2)-(8t-15)(14t +5)
=(14t +5)(-13t +17)
¢) (15x-2)(3x-7)-(15x-2)(-2x-1)
=(15x-2)(5x-6)

a)(x 4) -36=(x-4) -6
=(x-4+6)(x—-4-6)=(x+2)(x-10)
b) 5" =53 =(V5) =(+45)(s=5)
25-(2-x)" =5 —(2-x)’
=(5+2-x)(5-2+x)=(7-x)(3+x)
d) (x+3) —(2x+4)
=(x+3+2x+4)(x+3-2x-4)

c)

7/ a) 4(2x-3)(5x+12)
b) 2(3x—7)(x+1)

c) —6(5x-|—1)(x—2)

d) -5(2x-3)(2x+1))



